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 22 X – English

ourselves. Likes and comments are signs of validation. The 
more likes we get, the better we tend to feel. But when this 
happens, we place the value of others’ opinions above our 
own. Letting other people determine your self-worth is a 
sure-fire way to destruct self-confidence and feel less-than-
adequate. Frequent posting and updating to social media 
sites may make you feel like you’ve adequately connected 
with others, though virtually.
Source of text:

http://www.healthcorps.org/how-social-media-can-affect-
your-self-esteemhttps://selecthealth.org/blog/2019/08/is-
social-media-hurting,/-your-self-esteem
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SOLVED QUESTION :

Question 1: Below is a graph given showing brith and 
death rates rates in a country from 1901 to 2101. Write an 
analytical paragraph (100-150 words).

Answer 1:

The graph shows birth and death rates starting from 1901 
till 2101. Since 1901., the birth rate has remained more than 
the death rate until 2041. Birth rate was 20000 in 1901 and 
started increasing gradually. It peaked in 1961 to around 
65000. From 1961, birth rate has fluctuated multiple times 
between 50000 and 60000. It is expected to decline for the 
coming years reaching approximately 42000 by 2101.
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On the other hand, the death rate stood at around 10000 in 
1901 and then has increased steadity. It is expected to risk 
strikingly from 2021 before levelling off to approximately 
60000 between 2061 and 2081. The graph indicates a 
slight decline in death in the year 2101.
The graph shows the huge gap between birth rate and 
death during 1961 to 2001. However, this gap is expected 
to reduce in the death rate will be more than the birth rate 
in the later half of the 21st century.

QUESTIONS FOR PRACTICE: 

1. The pie-chart below displays data about the reasons 
people have started to travel to their workplace by 
bicycle or by car. Summarise the information by selecting 
and reporting the main features, and make comparisons 
where relevant.
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2. These are the results of an Ipsos survey conducted 
from April 9” to 12”, 2020 on the Global Advisor online 
platform among 28,000 adults aged 18-74 in Canada 
and the United States and 16-74 in Australia, Brazil, 
China, France, Germany, Italy, India, Japan, Mexico, 
Russia, Vietnam and the United Kingdom. Summarise 
the information by selecting and reporting the main 
features, and make comparisons where relevant.

HOW DO YOU FEEL ABOUT FACE MASKS?

3. Wether you use Google, Bing, Yahoo or any other tool 
to find information on the Web, you are using a search 
engine. Frankly speaking, most people prefer google 
over any other search engine. The data depicted below 
has been collected in 2019. Summanse the information 
by selecting and reporting the main features, and make 
comparisons where relevant.
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4. The pie-chart below displays data about the factors 
which make people happy. The data has been collected 
from people of two age brackets: under 30 years of age 
and above 30 years of age. Summarise the information 
by selecting and reporting the main features, and make 
comparisons where relevant.

What makes people most happy?
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The Making of Scientist
RTCS

Read the extracts given below and attempt the 
questions that follow.

Passage 1
1. Why did Ebright not have much to do in  

Pennsylvania? 

2. What all did Ebright collect in his initial years of 
schooling?

3. Find out the antonym of the word ‘Patient’ from the 
extract? 

An only child, Ebright grew up north of Reading, 
Pennsylvania. “There wasn’t much I could do there, 
he said. “I certainly couldn’t play football or baseball 
with a team of one. But there was one thing I could do 
-collect things.”
So he did, and did he ever! Beginning in kindergarten, 
�������	 
���

�
�	 ����
���
�	 ����	 ��
	 ���
	
determination that has marked all his activities. He 
also collected rocks, fossils, and coins. He became 
an eager astronomer, too, sometimes star-gazing all 
night.
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(c) four
(d) seven

Answers:
1. K.A.Abbas
2. Sulekha
3. Village Numberdar
4. ��������	
���	�
5. 
��

Passage 2

Bholi was seven years old when Mangla was married. The 
�����������������������		���	������������	���������������
�����������������������������������	�����	�������	�������
�����	�������������	��������������������!��	"������	!�
���� �������������������	�� �����	��������� ��� ������������
���� �	� �	!��!��� ���� ����#������ �	� ���� �����������$	!�
�!���������	!����!������� �	����		��%�����������������
��������	��!��������������������������������	!����&�'�*��
�������	��	����		�����	����������������'%�+!�������������
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SAMPLE QUESTION PAPER (2022-23)
UNSOLVED

ENGLISH LANGUAGE AND LITERATURE 
(CODE 184)

CLASS X

Time allowed: 3 hrs                             M.M: 80
General Instructions:

1. The	Question	Paper	contains	THREE	sections-A,	B	and	
C. All questions are compulsory.

2. Attempt	 questions	 based	 on	 specific	 instructions	 for	
each part.

SECTION A-READING 
20 marks

1. Read the passage given below and answer the 
questions that follow.              10

1. Sportsmanship can be conceptualized as an enduring 
and relatively stable characteristic or disposition such 
that	 individuals	 differ	 in	 the	 way	 they	 are	 generally	
expected to behave in sports situations. In general, 
sportsmanship prefers to virtues such as fairness, 
self-control, courage, and persistence, and has been 
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associated with interpersonal concepts of treating 
others and being treated fairly, maintaining self control 
if dealing with others, and respect for both authority and 
opponents. Sportsmanship is also looked at as being 
the way one reacts to a sport/game/player.

2.  The four elements of sportsmanship are often shown 
being good form, the will to win, equity and fairness. 
All four elements are critical and a balance must be 
found among all four for true sportsmanship to be 
illustrated.	These	elements	may	also	cause	conflict,	as	
a person may desire to win more than play in equity 
and fairness and thus resulting in a clash within the 
aspects of sportsmanship. This will cause problems as 
the person believes they are being a good sportsman, 
but they are defeating the purpose of this idea as they 
are ignoring two key components of being sportsman 
like. When athletes become too self-centered, the idea 
of sportsmanship is dismissed.

3. Today’s	sporting	culture,	 in	particular	 the	base	of	elite	
sport, places great importance on the idea of competition 
and winning and thus sportsmanship takes a back seat 
as a result. In most, if not all sports, sportsmen at the 
elite level make the standards on sportsmanship and 
no matter whether they like it or not, they are seen as 
leaders and role models in society.
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4.		Since	every	sport	is	rule	driven,	the	most	common	offence	
of bad sportsmanship is the act of cheating or breaking 
the rules to gain an unfair advantage. A competitor who 
exhibits poor sportsmanship after losing a game or 
contest	is	often	called	‘a	sore	loser’	while	a	competitor	
who exhibits poor sportsmanship after winning is typically 
called a ‘bad winner. Sore loser behaviour includes 
blaming others for the loss, not accepting responsibility 
for personal actions that contributed to the defeat, 
reacting to the loss in an immature or improper fashion, 
making excuses for the defeat, and citing unfavorable 
conditions or other petty issues as reasons for the defeat. 
A bad winner acts in a shallow fashion after his or her 
victory, such as by gloating about his or her win, rubbing 
the win in the face(s) of the opponent(s), and lowering 
the	opponent’s	self-esteem	by	constantly	reminding	the	
opponent(s) of poor performance in comparison (even 
if the opponent(s) competed well). Not showing respect 
to the other team is considered to be a bad sportsman 
and	could	lead	to	demoralizing	effects;	as	Leslie	Howe	
describes: “If a pitcher in baseball decides to pitch not to 
his maximum ability suggest that the batter is not at an 
adequate level, [it] could lead to the batter to have low 
self-confidence	or	worth.”
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On the basis of your understanding of the passage, 
answer any Ten questions out of the following 12 
questions:
i. Is it necessary to strike a balance between all the 

four elements of sportsmanship?
(a)	Yes
(b) No
(c) Any 2 can be balanced
(d)	Only	1	is	sufficient

ii. Why has sportsmanship taken a backseat today?
(a) Due to lack of balance between the elements
(b) Due to the emphasis on winning
(c) Due to drug abuse
(d) None of the above

iii. If one does not accept responsibility for one’s defeat, 
one is called a:
(a) Good sportsman
(b) Bad winner
(c) Sore loser
(d) Prudent sportsman

iv. From the last paragraph, give the opposite of the 
word ‘deep’:
a) Competitor     b) Pitch   c) Immature d) Shallow
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v. When does the spirit of sportsmanship die?
(a) When the sportsman becomes too self-centered
(b) When the player loses the will to play 
(c) When the sportsman behaves badly
(d) None of the above

vi. Elements of sportsmanship may cause:
(a) Attraction
(b)	Understanding
(c) Balance
(d)	Conflict

vii. What are the four elements of sportsmanship?

viii. What is the most common offence of bad 
sportsmanship?

ix. How does a bad winner act?

x. How has today’s sporting culture changed?

xi. What is the result of disrespecting the “other team”?

xii. What lowers the opponents self esteem?



 346 X – English

ENGLISH LANGUAGE & LITERATURE (184) 
SOLVED SAMPLE QUESTION 

Class X
Time: 3hrs               Max Marks: 80
General Instructions: 
1. The Question Paper contains THREE Sections-A, B & 

C. All questions are сompulsory. 
2.  Attempt questions based on specific instructions for 

each part

Read the passage below:

1. Delhi tried very hard but it wasn’t enough. In the run-up 
to D-Day, the sound of firecrackers had not been heard. 
The Supreme Court ban on sales had made procuring 
them difficult, but many people, including school children, 
had resolved to buck tradition for clean air. And till 7 pm 
on Diwali, most neighborhoods were quiet. Around that 
time the first sound of firecrackers going off was heard, 
and gradually it rose to a crescendo. But it was nowhere 
near the blitzkrieg of the past, not even half of that.

 And well before midnight, it was all over. 

2. The bad news broke at dawn. It was a visibly smoggy 
morning. Air pollution levels had peaked to “severe” on 
Diwali night and remained dangerously high till Friday 
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afternoon as reflected in the real-time monitoring data 
of Central Pollution Control Board (CPCB) and Delhi 
Pollution Control Committee (DPCC). 

3. The CPCB, however, pointed out a silver lining. It said 
the air quality index (AQI) this year was better than the 
ones on Diwali in the past two years in spite of hostile 
meteorological conditions. On Diwali last year (October 
30, 2016), the average AQI for the city was in the “severe” 
category at 425 while the year before that (November 
11, 2015), it had been in the “very poor” category at 327. 
This time, it was marginally lower at 326.

4. There are so many factors impacting air quality-from 
the speed and direction of the wind to burning: of 
crop stubble in neighboring states-that it is difficult to 
definitively identify the main culprit. What, however, 
has to be acknowledged is that at least a majority of 
people have the will to stick to what may appear to be 
unpalatable decisions for better quality of life.

5. The data, however, is making informed observers 
worry-particularly the massive peaks in PM (Particulate 
Matter) 2.5 (fine, respirable pollution particles) and PM 
10 (coarse pollution particles) levels on Thursday night 
after 10 pm. Delhi peaked to 656 micrograms per cubic 
meters around midnight.
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6. However, the data also shows that in spite of unfavorable 
meteorological conditions, the air quality on Diwali this 
year was better than last year. It had not been so good 
in the two days preceding Diwali due to intrusion of 
humid air from the south-east coupled with prevailing 
calm wind conditions. The average mixing height (the 
height to which smoke or air will rise, mix and disperse) 
recorded on October 18 and 19 were 547 metres and 
481 metres, respectively, according to CPCB. It should 
be at least 1000 metres for proper dispersal.

On the basis of your reading of the passage, answer 
the following questions by choosing the best of the 
given choices. (Attempt any Four)

i. (a) in the run-up to D-Day, the sound of firecrackers had 
not been heard because the___________________
(a) Supreme Court banned the sales of firecrackers.
(b) children resolved to back tradition for clean air..
(c) neighborhoods did not like the sound of firecrackers. 
(d) children were afraid of the sound of firecrackers.

ii. (b) The “bad news’ that broke at dawn was that 
(a) there was smog in the sky.
(b) the air pollution levels were dangerously high.
(c) CPCB released real time figures that were alarming.
(d) All of the above.
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iii. The AQI levels after Diwali this year were_________.
(a) the same as in other years.
(b) higher than other years.
(c) lower than other years 
(d) could not be ascertained.

iv. There will be no air pollution if
(a) school children do not burst crackers on Diwali. 
(b) there is a strong wind on Diwali night.
(c) if the motor vehicles do not run on Diwall.
(d) None of the above.

v. ‘Crescendo’ in para 1 means
(a) to happen successfully
(b) an increase in intensity 
(c) better quality of life
(d) metrological conditions

vi. unpalatable in para 4 means 
(a) 6,000 metres for proper dispersal 
(b) dispersal
(c) feeling happy
(d) not pleasant

vii. The massive peaks in PM (Particulate Matter) 2.5 
and PM 10 (coarse pollution particles) on the Diwali 
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day made the observers worried. [True/False] 
viii. Despite the Supreme Court ban on the sale of 

firecrackers, many people including school 
children were adamant to burst firecrackers on the 
Diwali Day. [True/False] 

ix. In the run-up to D-Day in Delhi the sound of 
firecrackers gradually rose to a____________.

x. Delhi peaked to 656________per cubic metres 
around midnight. 

xi. Find words from the passage which have a meaning 
similar______________ to the following.
(a) unfavourable (paragraph 3) 
(b) influencing (paragraph 4)
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SECTION B
WRITING AND GRAMMAR

20 Marks
3. You are Lavika/ Lavish You want to order eatables from 

Third eye Bakers for your father’s surprise birthday 
party. You reside at D-52, Andrews Ganj Extension, 
Delhi Place an order for your desired bakery items 
for the party. Also ask for the discount..........5

Or
You are Krusha/Krishang, a student of class X and 
resident of 767. Sector 7 Chandigarh and want to be 
a choreographer Write a letter to the Director, 
National Institute of Choreography, New Delhi, 
seeking information about their course, admission 
procedure, eligibility criteria and other necessary 
details. ..................5

4. The pie chart below illustrates how internet users 
aged 16+ prefer to access the internet at home and in 
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other places, Summarise the information in the pie 
chart by selecting and reporting the main features 
in 100-120 words                            5

OR
The present generation is well updated in the use of 
the internet and computers Let’s look at the data 
arising out of a recent survey that was done to 
ascertain the time spent on the utilisation of the 
computer and internet for varied purposes. Write an 
analytical paragraph for the above bar chart in 100-
120 words.            5

Grammar
5. Fill in the blanks with the suitable form of the words 

by choosing the correct option given below.            
5 marks

 Drug addiction (a)____________a serious problem 
and the reasonsfor it (b)___________ not difficult to 
find. The home environment (c) ____________ a major 
contributory factor. Modern life (d) _____________ 
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very hectic. When both the parents (e) _____________
hands, they (f) ___________________ working spare 
time for their children. Lonely youngsterstry to 
experiment with drugs. The parents realise the fact 
onlywhen they become drug addicts.

(i) becomes
(iii) has become
(ii) became 
(iv) will become

(b) (i) is
(iii) are
(ii) am
(iv) will be

(c) (i) is
(iii) are
(ii) am
(iv) are being

(d) (i) became
(iii) is being become
(ii) becomes
(iv) has become
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(e) (i) are
(iii) were
(ii) have been
(iv) had been

(f)   (i) do not find
(iii) have not found
(ii) are not finding
(iv) had not found

6. The following passages have not been edited. There 
is an error in each line. Write the incorrect word 
under the Error column and correct word under the 
Correction column :         5

                                     Error  Correction

Health precedes action. There are an (a)___________
undisputed connection among being  (b) ___________
fit and being our best. A simple rules (c) ___________
of five’ helps make exercising a most  (d) ___________
enjoyable activity. Woke up at 5 a.m., do  (e) ___________
five stretches and five yoga asanas
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SECTION C
LITERATURE 

40 marks

7. Read the extracts given below and attempt ANY 
ONE by answering the questions that follow:  
1X5=5 marks

A. This way she picked up various small details about 
the bus journey. The town was six miles from her 
village. The fare was thirty paise one way--which is 
almost nothing at all, she heard one well dressed man 
say, but to Valli, who scarcely saw that much money 
from one month to the next, it seemed a fortune. The 
trip to the town took 45 minutes

i. Why did Valli pick up details about the bus?
(a) Because she liked the bus
(b) Because she had to write an essay on bus journey
(c) Because she had to travel with her mother 
(d) Because she wanted to ride the bus all alone

ii. What was the opinion of the well dressed man 
about the fare?

iii. The bus travelled between Valli’s_______________.
(a) Town to the nearby village 
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(b) Village to a nearby town
(c) State to another state 
(d) Village to another village

iv. Complete the sentence....
The bus fare was a large sum for Valli 
because___________.

v. The word ‘scarcely’ in the passage ‘DOES NOT 
correspond to
(a) Hardly 
(b) Truly
(c) Commonly
(d) Barely

B. Out of the experience of the extraordinary human 
disaster that lasted too long. must be bom a society 
of which all humanity will be proud. We, who were 
outlaws not so long ago, have today been given the rare 
privilege to be host to the nations of the world on our 
own soil. We thank all our distinguished international 
guests for having come to take possession with the 
people of our country of what is, after all, a common 
victory for justice, for peace, for human dignity.

i. The speaker of these lines is __________________ 
(Fill in the blank)

ii. The extraordinary human disaster referred to in the 



 357 X – English

passage is____________
(a) The sufferings of the people in World War II 
(b) The cruelty with which the whites treated the black 

people of South Africa
(c) The sacrifices of the freedom fighters of South Africa 
(d) The sufferings of the poor people of South Africa

iii. Who were the outlaws?

iv. iThe speaker thanks the international leaders for 
________________ (complete the sentence)

v. The word in the passage which means ‘Famous’ 
is________
(a) Common
(b) Extraordinary
(c) Distinguished 
(d) Rare

8. Read the extracts given below and attempt ANY 
ONE by answering the questions that follow:   
1X5=5

A

He senses his first responsibility
In a world of possessions. People will take 
Balls, balls will be lost always, little boy.
And no one buys a ball back. Money is external.
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i. The word “he’ in the passage refers to 

_______________(complete the sentence) 

ii. ‘first responsibility’ means
(a) To share our things with others 
(b) To take care of our belongings 
(c) To buy new things
(d) To never play with a ball

iii. Complete the given sentence____________
 The phrase ‘world of possessions’ means 

______________

iv. The word ‘balls’ in the above lines signify 
__________
(a) The toys children play with 
(b) Money that people earn
(c)The boy’s childhood days 
(d) The losses in life

The way a crow
Shook down on me The dust of snow
From a hemlock tree
Has given my heart
A change of mood
And saved some part 
Of a day I had rued
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v. Name the literary device used in the line— no one 
buys a ball back” __________
(a) Metaphor
(b) Alliteration
(c) Simile 
(d) Poetic license

B.    

i. Name the poem and the poet of the above lines.

ii. How did the dust of snow affect the poet__________?
(a) It made him energetic 
(b) It changed his mood
(c) It made him angry
(d) It made him superior

iii. Fill in the blank: 
 The poet is _______________in the beginning of the 

poem.

iv.  The ‘dust of snow’ signifies _________________
(a) Particles of snow
(b) Cold weather
(c) Healing power of nature
(d) Beauty of nature

v. The rhyme scheme of the above passage is _______.
9. Answer ANY FOUR questions in 40-50 words each:    

3X4= 12
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i. What prompted Anne to maintain a diary?

ii. Why was the baker’s arrival so special for the 
children of Goa in the olden days?

iii. What makes Chubukov misunderstand the purpose 
of Lomov’s visit?

iv. The airhostess was like a ray of hope for Maxwell. 
Explain with reference to the story Mijbil the Otter. 

v. Give a contrasting picture of the tiger in its natural 
habitat and in the locked cage of the zoo. 

10. Answer ANY TWO questions in 40-50 words each:     
3X2-6

i. Tricki was a victim of overindulgence. How? 

ii. Griffin’s brilliance as a scientist fades before his 
lawless behaviour. Comment 

iii. Where did Captain Omega reach with his team and 
why/

11. Answer ANY ONE question in 100-120 words:                     
6 marks

A) Personal losses are a part and parcel of life. We 
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should learn to bear the pain associated with loss. 
Explain how is this message conveyed through The 
Ball Poem and A Sermon At Benares.

B) The Postmaster in the story A Letter To God 
represents such people who still believe in helping 
others. Imagine yourself to be the postmaster write 
about your feelings and your decision on reading 
Lencho’s second letter to God.

12. Answer ANY ONE question in 100-120 words:         
6 marks

A) After her meeting with Matilda Mme Forestier is upset 
with what happened. She feels guilty for not telling 
her friend that the necklace was fake. She wishes 
to make amends for the ten years of suffering faced 
by the Loisels. As Mme Forestier write a letter to 
Matilda expressing your feelings.

B) Discuss Bholi’s teacher’s role as, the pathfinder in 
her life.
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ENGLISH LANGUAGE & LITERATURE (184)
SOLVED SAMPLE QUESTION — Marking Scheme

Class X

READING

1. Answers (Unseen passage 1) 
i. a Yes
ii. b Due to the emphasis on winning 
iii. c Sore looser
iv. d shallow 
v. a When the sportsman becomes too self centered 
vi. d conflict 
vii. good form, the will to win, equity, fairness 
viii. act of cheating or breaking the rules to gain and 

unfair advantage 
ix. A bad winner acts in a shallow fashiion after his/ 

her victory (any one point)
x. Places great importance on winning rather than 

having sportsmanship.
xi. Lead to demoralizing effects 
xii. Fairnesss, self control, courage and persistance.

2. Read the passage below:
A. On the basis of your reading of the passage, 

answer the following questions by choosing the 
best of the given choices. (Attempt any Four)
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i. the Supreme Court banned the sales of firecrackers.
ii. all the above
iii. lower than other years
iv. none of the above.
v. an increase in intensity
vi. not pleasant
vii. True
viii. False 
ix. crescendo
x. micrograms
xi. hostile
xii. impacting

3. LETTER: TO PLACE AN ORDER 
Suggested Letter:

D-52. Andrewsganj Extension
Delhi
March 2,2023

The Manager 
Third eye Bakers
Delhi

Subject: Order for bakery items

Dear sir,
I want to order some bakery items from you. I am organizing 
my father’s surprise birthday party next Sunday. I want the 
food items to be delectable and hygienically made. I have 
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heard a lot about the ways of your food preparation and 
quality of food and its taste. So I want the eatables for the 
party to come from you. You are requested to deliver the 
following items on Sunday by 5:00 pm.

Items   Quantity

Birthday cake 10 pounds
Pizzas large 20
Cream roll  40
Cheese Patties  40
Dry fruit cookies  10 packets

Please make sure all the items are freshly baked and 
made. Kindly do the delivery on time. I will give the Paytm 
Rs 500 on your given number as advance. Final payment 
will be made after delivery. Please send the bill along with 
delivery. As this will be my first order from you and the first 
order itself is big, I expect a generous discount too.

Thanking you
Yours sincerely
Lavika/ Lavish

OR
767,Sector 7 
Chandigarh

27th January 2022

The Director
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National Institute of Choreography Delhi

Subject: Inquiry regarding Course in Choreography

Dear Sir/Madam

Referring to your advertisement regarding the courses in 
choreography offered by your reputed institute, I want to 
state that I am currently in class X and preparing for my 
final exam. I am very much interested in dancing and want 
to take it as a career. I also understand that this institute 
is by far the best so far as choreography is concerned 
and I would very much like to be a part of it. Kindly send 
me the prospectus and the application form. I would be 
highly grateful if you could provide me with the following 
information:

• The department and programme faculty
• Fee structure
• Scholarships available
• Admission procedure
• Eligibility criteria
• Hostel facilities
• Conveyance facility
Kindly send me the brochure along with the enrolment form 
at the earliest so that ! could register myself for the course.

Yours sincerely
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Krusha/Krishang
Ans 4. This graph shows the results of a survey in which 
people aged 16 and over were asked about their preferred 
devices for accessing the internet. Participants mentioned 
four main devices in their answers: a computer, a laptop, 
a tablet and a smartphone. From the pie chart, it is clear 
that the majority of participants prefer to use smartphones 
and laptops with just three per cent difference between 
the two. Nearly every third participant prefers to go online 
with a smartphone. Thirty percent like to use a laptop. A 
desktop computer accounts for fourteen per cent of user’s 
preferred devices. Only a minority prefer a device other than 
these main four. In conclusion, since mobile and portable 
devices are the most popular choices, it is clear that many 
participants access the internet outside their homes as they 
do not like to be fixed at a place. The desktop computer is 
the least popular choice. More and more people access 
the internet with smartphones as their preferred choice

The bar graph illustrates the time spent on the utilization 
of the computer and the internet by people in a month. 
According to the survey, all five usage reasons academics, 
personal use, e-mail access, work, and leisure-witness at 
least 50% daily activity. It was observed that almost everyone 
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use these facilities at least once a month for leisure, with 
30% saying they use them once a week. The data revealed 
that people use computers for work at least once and very 
few (less than 10%) never used e-mail. Computer and the 
internet for academic reasons on a daily basis are used by 
50% of students and over 20% stated doing so 2-3 times a 
week. There were only 2% who never used these services 
for academics. In short, it can be stated that the internet 
and computer are slowly penetrating every field of life.

5.   (a) (iii) has become
(b) (iii) are
(c) (i) is
(d) (iv) has become
(e) (1) are
(f) (1) do not find

6.   (a) sat
(b) under
(c) the
(d) replaced
(e) with
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SECTION C (LITERATURE)

Ans 8. A

i. d) because she wanted to ride the bus all alone
ii. He felt that the bus fair was almost nothing at all 
iii. b) village to a nearby town
iv. She had never seen that much money
v. c) commonly

B.
i. b) the cruelty with which the whites treated the black 

people of      Africa
ii. The black people of South Africa
iii. having come to take possession with the people of 

South Africa
iv. a) Installation of the first Black President of independent 

South      Africa
v. c) distinguished

Ans 9. A

i. 1) the boy who had lost his ball 
ii. b)to take care of our belongings 
iii. the materialistic world
iv. iv) c) the boy’s childhood days
v. b) alliteration
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B.
i. Dust of Snow/Robert Frost
ii. b) It changed his mood
iii. sad
iv. c) healing power of nature
v. ababcdcd
And 10.

(a) Because she didn’t have a true friend with whom she 
could share her true feelings

(b) Baker-friend, guide and companion to children-brought 
bread baggels for children 

(c) Lomov dressed up formally-had previously also 
borrowed money from Chubukov

(d) Because she allowed Maxwell to carry Mij in his lap in 
the plane 

(e) Tiger in natural habitat can roam freely and attack other 
animals, In the cage cannot do anything, is helpless

Ans 11.

(a) Tricki was greedy for food. Overfeeding and overdose 
of sweets, cakes and chocolates made Tricki hugely 
fat. He became rheumy (watery) and listless (lacking 
energy). His tongue lolled from his jaws. The doctor 
advised Mrs Pumphrey to keep Tricki on a very strict 
diet and give him plenty of exercises.Tricki became a 
victim of overindulgence and overfeeding. Dr. Herriot’s 
instructions were ignored.
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(b) Griffin-invented drug for invisibility-lawless - robbed 
people

(c) Captain Omega reached a library on the earth to inspect 
the situation on the earth before the Martian attack

Ans. 12

(a) In the Ball poem, a boy looses his ball - poet doesn’t 
buy him another ball - wants him to learn to bear the loss 

 In a sermon at Benares - KisaGotami loses her son- 
goes to Gautama Buddha for medicine - Buddha makes 
her release that death is common to all and everyone 
has to bear this loss.

b) Based on the imagination and creativity of the students.
Ans. 13

(a) Based on the imagination and creativity of the students.
(b) Bholis teacher played an important role in changing 

the course of her life. She was polite and friendly which 
touched her heart. She encouraged her every time and 
was affectionate towards her. The teacher transformed 
her into a confident person who could read write and 
speak clearly. This gave her the required confidence. 
Moreover teacher’s appreciation and encouragement 
helped her overcome her low morale.
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SAMPLE QUESTION PAPER (2022-23)
UNSOLVED

ENGLISH LANGUAGE AND LITERATURE 
(CODE 184)

CLASS X

Time allowed: 3 hrs           M.M: 80

General Instructions:
1. 15-minute prior reading time allotted for Q-paper reading.
2. The Question Paper contains THREE sections- 

READING, GRAMMAR & WRITING  and LITERATURE.
3. Attempt questions based on specific instructions for 

each part.

SECTION A-READING 
20 marks

1. Read the passage given below.       10

 Mountains have always been held in great awe by 
mankind. They have been a challenge to humans. Those 
brave among us have always wanted to conquer them. 
You see, the more incredible the mountains, the greater 
the thrill - a challenge to the bravery of the human race. 
Climbing mountains is an experience that is hard to 
put into words. You are in a beautiful environment and, 
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when you reach the top, you feel incredible. But you 
also have to climb down, which is when most accidents 
happen-people are tired, it gets dark, it’s harder. So, 
mountain climbing is undoubtedly one of the most 
popular adventure sports along with being challenging 
and risky for the climber.

 Without any perceived risk, there can’t be a feeling that 
any significant challenge has been surmounted. Fair, 
but we have to bear in mind that mountaineering is not 
a sport that can be embraced without preparation. The 
enthusiasts must develop in themselves the spirit of 
adventure, willingness to undertake hardships and risks, 
extraordinary powers of perseverance, endurance, and 
keenness of purpose before climbing a mountain. They 
should also know how to handle the mountaineering 
equipment. Then comes the penance of the rigorous 
training. This could very well be the lifeline up there. It 
helps inculcate and hone survival instincts that allow 
the climber to negotiate perilous situations. There are 
numerous institutes in India and abroad that offer such 
training.

 Mountain climbers are unanimous in agreeing that the 
unpredictable weather is what they fear the most. There 
may be sunshine one moment and a snowstorm the 
other. At higher altitudes, snow is a regular feature and 
being decisive about setting up camps or proceeding 
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further is crucial. The icy sheets after ice storms make 
walking treacherous, while the powdery snow makes a 
mountaineer sink deep into the snow. Up there, where 
the intention is to embrace Nature’s wonder, one realises 
that it cannot be done without facing its formidable glory. 
A true mountaineer may challenge the mountain, yet is 
always respectful to the powerful forces of nature.

 Summiting mountains carries its own health risks such 
as oxygen and altitude sickness problems, frost bites, 
swelling of hands and feet, fluid collection in brain or lungs 
and exhaustion. Yet, the gratification mountaineers feel 
from mastering something that is so frightening, urges 
them to undertake these endeavours. We may think 
that the mountaineers are fearless, experts say, “Not 
at all. It’s fear that keeps them so intrigued with such 
arduous journeys.” Impulse and brazen can be deadly 
foes. In the words of the Indian mountaineer, Bachendri 
Pal, “The biggest risk... is to not to take the risk at all. 
Remember that.”

 
 (444 words) 
 Adapted-
 https://evirtualguru.com/essay-on-mountaineering
 https://fairgare.com/fgnews/mountaineering-origin-and-

its-benefits 71549.html
 https://www.aplustopper.com/essay-on-mountain-

climbing/
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Based on your understanding of the passage, answer 
the questions given below.     1x10

i. Why does the writer say that mountains inspire 
‘awe’ in humans? (Paragraph 1)
A. They present us with opportunities for exciting sports.
B. They evoke the wish in us, to master them.
C. They inspire in us, deeds of valour.
D. They represent peace and calm, to us.

ii. Select the option that corresponds to the following 
relation below: 
The more incredible the mountains- the greater the 
thrill (Paragraph 1)
A. The higher the stamina-the lower the food intake
B. The more you laugh-the lesser your illness
C. The smaller the car-the bigger the advantage
D. The heavier the luggage-the higher the penalty

iii. Select the option that displays what the writer 
projects, with reference to the following:

So, mountain climbing is undoubtedly one of the most 
popular adventure sports (Paragraph 1)
A. doubt
B. caution
C. conviction
D. denial
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iv. Complete the following with a phrase from 
paragraph 1.

Opinion Reason
__________ Best experienced rather than described

v. The writer compares training to penance in the line 
--Then comes the penance of the rigorous training. 
(Paragraph 2) 
State 1 point of similarity between training and penance.

vi. Based on your reading of the text, list 2 reasons 
why the writer says that
“mountaineering is not a sport that can be embraced 
without preparation”.
(Paragraph 2)
1)_____________________
2)_____________________

vii. What connect does the writer draw out between 
unpredictable weather and setting up of camps? 
(Paragraph 3)

viii. The writer says, “A true mountaineer may challenge 
the mountain, yet is always respectful to the 
powerful forces of nature.” (Paragraph 3)
Select the reason the mountaineer is respectful to the 
forces of nature, up in the mountains.
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A. survival
B. experience
C. tradition
D. directive

ix. Supply 1 point to justify the following:
While mountain climbing, an impulsive mountaineer is 
either disaster-prone or as good as dead.

x. Evaluate the INAPPROPRIATE reason for the 
feeling of exhilaration on reaching a summit, that 
the mountain-climbers experience.
A. Achievement of a seemingly impossible feat
B. Spectacular panoramic view 
C. Application of the inculcated survival instincts
D. Opportunity to use sophisticated mountaineering 

equipment

II. Read the passage given below.   10

 The North-East of India is a melting pot of variegated 
cultural mosaic of people and races, an ethnic tapestry 
of many hues and shades. Yet, these states are lesser 
explored as compared to the rest of the country. The new 
generations of travellers who are ‘money rich and time 
poor’ are increasingly looking for unique experiences-- 
a phenomenon being called the emergence of the 
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‘experience economy. For this new and growing breed of 
tourists, the North-East with its variety and uniqueness 
holds immense attraction.

 
 A study conducted in 2020 by Dr. Sherap Bhutia, 

revealed that the foreign tourist arrival in the North-East 
increased from 37,380 persons in 2005 to 118,552 in 
2014. The overall growth rate of tourist (both domestic 
and foreign) in the North-East was as high as 26.44% 
during 2005-06. A high and positive growth of 12.53% 
was registered in foreign tourist visits to North-East 
States of India during 2012 from 2011, which further rose 
to register a growth of 27.93% during 2013 from 2012. 
Foreign tourist arrivals in the North-East witnessed a 
growth of 39.77% during 2014 from 2013, according to 
data provided from the Ministry of Tourism, Government 
of India. 

 The study recommendations for tourism planners 
included the need to concentrate on some key areas 
like enhancement of tourist facilities, tourism financing, 
focus on community involvement and others for the 
formulation of a sustainable tourism strategy in the 
North-East States of India, 

 (234 words) 
 Adapted-https://socialscienceresearch.org/index.php/

GJHSS/article/view/3162
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i. Infer one reason for the following, based on 
information in paragraph 1.

 The rate of tourism in the North-East of India puzzles 
tourism officials.

ii. Select the appropriate option to fill in the blanks.
 From paragraph 1, we can infer that the____________

and__________ of the North-Eastern states aid 
attracting the ‘money rich and time poor’ tourists.
1. distinctiveness
2. conventionality
3. diversity
4. uniformity 
5. modernity
A. 1 & 3
B. 2 & 4
C. 2 & 5
D. 1 & 4

iii. Complete the following analogy correctly with a 
word/ phrase from paragraph 1:

 aroma: cooking::________:painting
 (Clue: Just like aroma is integral to cooking, 

similarly________ is/are integral to painting)

iv. Select the correct option to complete the following 
sentence:

 Travellers advocating the ‘experience economy seek a 
holiday package with (Paragraph 1)
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A. grand facilities, expensive hotels and excellent 
services to pamper them.

B. a wholesome experience within the budget they have 
planned for. 

C. places and cities to buy things from and opportunities 
spend money.

D. cost-effective services, affordable accommodation 
and many days of touring.

v. Select the chart that appropriately represents the 
trend of foreign tourist travels in the North-East, 
from 2011-2014, as per paragraph 2.

A. Option 1
B. Option 2
C. Option 3
D. Option 4

For the Visually Impaired Candidates
Describe the trend of foreign tourist travels in the North-
East, from 2011-2014 in ONE word, as per paragraph 2.

vi. Fill in the blank by selecting the correct option.
The study of tourist travel statistics in the North-East, 
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from 2005 to 2014 showed______________results.
A. expected
B. encouraging
C. inconsistent 
D. questionable

vii. Substitute the word ‘witnessed’ with ONE WORD 
similar in meaning, in the following, sentence from 
paragraph 2:
Foreign tourist arrivals in the North-East witnessed a 
growth of...

viii. List any 2 examples of ‘tourist facilities’ as referred 
to, in Paragraph 3.

ix. List one reason why the researchers recommend 
that the formulation of a tourism strategy in the 
North-Eastern States of India be sustainable.

x. Select the option that titles paragraphs 1-3 
appropriately, with reference to Information in the 
text.

1.Full Speed   
Ahead!

1 Winds of 
Change

1 Inspecting 
Trends

1 Cause & 
Effect

2 Ups and Downs 2 Numbers 
Don’t Lie

2 Statistically 
Speaking

2 Dynamic 
Data

3 Cause for 
Concern

3 Time for 
Action

3Let’s 
Investigate

3 Dependable 
Facts

(A) (B) (C) (D)
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SECTION B-GRAMMAR
Attempt ANY TEN of the following questions.       10

i. Fill in the blank by choosing the correct option to 
complete an online update.
The climate control comment by an activist on social 
media yesterday.
A. blow up
B. blew up
C. is blown 
D. will be blown

ii. Read the conversation between a doctor and his 
patient. Complete the sentence by reporting the 
patient’s reply correctly.
Doctor: Do you feel down from time-to-time Mr. 
Gopalan? 
Patient: Yes, do not stay in a good mood.

The doctor, while trying to figure out his patient’s 
ailment, asked about his well-being, to which, the 
patient affirmed________________.

iii. Select the correct option to fill in the blank for the 
given line, from a health magazine.
The advertisement read, ‘If you smoke, statistically 
your story__________ end 15% before it should’.
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A. must
B. should
C. will
D. ought to

iv. Select the option that identifies the error and 
supplies the correction for the following line, from 
a news report: 
Last week a child was not allowed to board the plane 
at Ranchi airport.
Option no. error correction

A. child children
B. last previous
C. the a
D. at in

v. Complete the given narrative, by filling in the blank 
with the correct option:
As was standing on the dock, looking out at the lake for 
the last time, a feeling of emptiness ___________over 
me like darkness.
A. will wash
B. had washed 
C. will have washed
D. washed

vi. Fill in the blank by using the correct form of the 
word in the bracket, for the given portion of a letter:
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Subject: Request for Approval
Dear Sir
This is to respectfully submit that I_ (seek) approval for 
organising a tree plantation drive to be undertaken by the 
club.

vii. Report the dialogue between a grandson and his 
grandfather, by completing the sentence:

Grandson: Grandpa, who are your superheroes?
Grandpa: Anyone who shows kindness and compassion to 
others. 
In response to the question about his superheroes, 
grandfather says that________________________.

viii. Identify the error in the given sentence, from a 
school magazine report and supply the correction.

In order to balancing the sentiments of the Eagles and the 
Hawks, the Student Council suggested a rematch between 
the teams.
Use the given format for your response. 

error error correction

ix. Sunil shared some information, with Tariq, about a 
holiday at sea. Report Tariq’s question.
Did you enjoy travelling by sea?
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x. Fill in the blank by choosing the correct option, 
to complete the slogan by the Ministry for Child 
Welfare.
_________WE AFFORD TO NEGLECT CHILDREN? 
THINK TWICE!!
A. WILL
B. MAY
C. NEED
D. CAN

xi. Select the correct option to complete the narration 
of the dialogue between Latha and her father.
Father: Why ask so many questions, Latha?
Latha: believe that if you don’t know the answer, keep 
asking till you do!
Father asked Latha the reason for the many questions 
she was asking. Latha exclaimed good-humouredly 
that in event of not knowing the answer one should
A. keep asking till one does.
B. kept asking till one does. 
C. keep asking till one do.
D. kept on to ask till one do.

xii. Identify the error on a shop’s hoarding and supply 
the correction, for the following sales offer:
Gumnaam & Daughters Pvt. Ltd.      Bindapur, Jharkhand
Massive discount for all senior citizen vaccinated with 
the precautionary dose.
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Use the given format for your response.
error error correction

SECTION B-CREATIVE WRITING SKILLS
All the names and addresses used in the questions are 
fictitious. Resemblance, if any, is purely coincidental.

1. Attempt ANY ONE from A and B given below.

A. You are Sunidhi Prakash, the Vice Captain of Brilliant 
Vidyalaya, Barra, Kanpur. You have recently noticed 
several posters around your school premises conveying 
a hazardous message:

Lose weight in just a month! 
“A WONDER DIET comes to your rescue... 

A privilege available for only a few!”

Write a letter to the Editor of The DWA, in not more than 
120 words, drawing attention towards harm caused by such 
advertising. Propose the implementation of “Wholesome 
Lunch Month’ in schools as an idea to address such 
practices, mention the advantages and share suggestions 
to foster healthy eating routines and develop positive body 
image among youngsters.

OR
You are Zac Skaria, a resident of # 412, Magna Greens 
Apartments, Gandhi Marg, Jonpara, Mumbai. Three 
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students of grade 10 from your residential complex 
have rescued and rehabilitated a few old beggars from 
the neighbourhood. You think that their work deserves 
appreciation and recognition. Write a letter to the President 
of the RWA, seeking recommendation for these youth, to 
be nominated for ‘Serving Citizens’ Award’. Suggest other 
ways such acts of kindness could be recognised and 
awarded in the future.

2. Attempt ANY ONE from A and B given below.
A. Gurmeet Kaur is an aspiring candidate for a public-

funded engineering college in the suburbs.
 She belongs to a nearby village, has minimal 

technological skills and exposure, has the required cut-
off percentage and is looking for a complete or partial 
scholarship.

 Write a paragraph in about 100-120 words, analysing 
her SWOT notes to support your stand on whether she 
should join/not join the college.
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STRENGTH
• Strong Curriculum
• Quality faculty
• Vibrant Activity 

Clubs
• Green location
• Close proximity to 

residential areas

WEAKNESS
• Lack of diversity 
• Students’ behavioural 

problems
• No hostel facility 
• Slow repair and maintenance 

work
• Underutilization of IT Services
• Lack of targeted 

advertisements to out-state 
students

OPPORTUNITIES
• Practice based research
• Partnership with 

professional 
organisations

• Strong alumni
• Acclaimed Student 

Exchange Programme 
with European countries

THREAT
• Lack of publicity in areas 

of excellence 
• Public perception 

towards funded colleges
• Declining students’ 

interest towards 
technical subjects 

• Low employee morale 
due to budget cuts

OR
Read the following excerpt from an online post of a 
website on educational practices.

Kids who appreciate how much effort, time and care goes 
into growing food will understand how important farmers 
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are, and why it’s important to take care of our Earth. In 
the world of today, gardening needs to be given more 
importance than sports, music and dance in all schools 
because it creates environmental stewards and outdoor 
learning laboratories that help the child and community for 
years to come.

Write a paragraph in 100-120 words to analyse the 
given argument.

You could think about what alternative explanations might 
weaken the given conclusion and include rationale/ evidence 
that would strengthen/ counter the given argument.
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SECTION C-LITERATURE
Reference to the Context
Attempt ANY ONE of two extracts given.
1.A
“Hey, a tea garden!” Rajvir cried excitedly.
Pranjol, who had been born and brought up on a plantation, 
didn’t share Rajvir’s excitement.
“Oh, this is tea country now,” he said. “Assam has the 
largest concentration of plantations in the world. 
You will see enough gardens to last you a lifetime!”
“I have been reading as much as could about tea,” Rajvir 
said. “No one really knows who discovered tea but there 
are many legends.”

(Glimpses of India)

i. Why was Pranjol not as excited as Rajvir about the 
tea gardens?
A. He disliked looking at tea gardens.
B. He had worked in tea gardens himself.
C. He had grown up in and around tea gardens. 
D. He was bored with tea gardens.

ii. What does Pranjol mean by saying that Assam 
has the largest concentration of plantations in the 
world?

iii. Fill in the blank with ONE WORD only.



 390 X – English

Pranjol’s___________comes through clearly when he 
exclaims, “You will see enough gardens to last you a 
lifetime!”

iv. How according to Rajvir does the world know about 
the discovery of tea?
A. Historical places
B. Traditional tales
C. Authentic anecdotes 
D. Popular publications

v. Select the option that correctly captures the 
application of the word ‘cried’ as used in line 1 of 
the extract.
A. Jaspreet cried a lot in spite of winning second place 

in a competition.
B. Jaspreet cried out loud when she saw a white tiger 

in the sanctuary. 
C. Jaspreet cried for hours when the police were unable 

to find her lost pet. 
D. Jaspreet has barely cried since she was three years 

of age.
OR

1.B OMEGA: It shall be done, Sir. Remove vitamins. (Crew 
takes vitamins from boxes on their belts.) Present 
vitamins.       10

(They hold vitamins out in front of them, stiffly.) Swallow 
vitamins. (They pop the vitamins into their mouths and gulp 
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simultaneously. They open their eyes wide, their heads 
shake, and they put their hands to their foreheads.) THINK-
TANK: Excellent. Now, decipher that code.
ALL: It shall be done, Sir. (They frown over the book, turning 
pages.)
OMEGA: (brightly) Ahal IOTA: (brightly) Oho!
OOP: (bursting into laughter) Ha, ha, ha.
THINK-TANK: What does it say? Tell me this instant. 
Transcribe, Omega. (The Book that Saved the Earth)

i. Select the option that correctly captures the usage 
of the word ‘present’ from line 1 of the extract.
A. Oops received a nice present from Think Tank. 
B. lota needs to present his opinion firmly.
C. Omega must focus on the present and leave the 

past behind.
D. Oops didn’t know anyone even though a crowd was 

present.

ii. Complete the analogy by selecting the suitable 
word from the text 
frown: smile:: gloomily:___________

iii. Select the option that displays the reason why all 
crew members were asked to have vitamins.
In order to -
A. boost their physical energies. 
B. adapt to their circumstances.
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C. quickly turn all the pages. 
D. accomplish a specific task.

iv. According to the extract, what did THINK-TANK 
most likely want OMEGA to do when he said 
‘Transcribe...”?
1. read aloud
2. translate
3. make notes
4. interpret
5. record reactions

Select the correct option.
A. 1 & 3
B. 2 & 4
C. Only 3
D. 1, 4 and 5

v. The playwright places certain words and sentences 
in brackets in the given extract. List any ways these 
benefit both the director and actors.
i)____________________
ii)____________________

Attempt ANY ONE of two extracts given.
2.A

The trees inside are moving out into the forest, 
the forest that was empty all these days 
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where no bird could sit 
no insect hide 

no sun bury its feet in shadow 
the forest that was empty all these nights

will be full of trees by morning.
(The Trees)

i. Complete the sentence appropriately.
It is clear that Personification is the poetic device used 
for ‘No sun bury its feet... 
because________________________. (Clue: explain 
how personification applies here) 

ii. The poet has used a poetic device in the given 
lines. What effect does she wish to create by its 
use?
...no bird could sit
no insect hide
no sun...
A. emphasis
B. comparison 
C. rhyme
D. humour

iii. State whether the following statement is TRUE or 
FALSE:
The extract uses trees as a symbol for conservative 
people.
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iv. Select the appropriate option to complete the 
sentence, according to the extract.
The idea of a forest that has been ‘empty all these days’ 
is_____________.
A. unnatural
B. scary
C. magical
D. legendary

v. How does the use of enjambment impact this 
extract?
A. It forces frequent pauses. 
B. It simplifies the meaning.
C. It builds momentum. 
D. It makes the lines lyrical.

OR
But I can get a hair-dye 

And set such colour there, 
Brown, or black, or carrot, 
That young men in despair 

May love me for myself alone 
And not my yellow hair.”

(For Anne Gregory)
i. What is the poet’s tone in the extract?

1. thoughtful
2. authoritative
3. agitated
4. insulting
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5. argumentative
Select the appropriate option.

A. 1,4
B. 3,5
C. 2,4
D. 1,5

ii. What causes the young men to ‘despair’, according 
to the extract?

iii. Identify the reason for the speaker’s need to colour 
her hair, as per the extract.
A. Her control over what makes her look beautiful. 
B. Her desire to be loved for inner beauty
C. Her need to change people’s perception about 

beauty
D. Her conviction that she is beautiful inside

iv. Complete the analogy about the speaker’s hair.
yellow: blonde ::___________: carrot

v. Select the sentence in which the word ‘set’ is used 
in the similar manner as line 2 of the extract.
A. I want to set him up and get my work done this time.
B. Do you have another set of the books that I can read?
C. The dessert needs to set for two hours before being 

served.
D. The set for the school play looked quite grand.
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Answer ANY FOUR of the following in about 40-50 
words each.

i. Validate the given statement with reference to baby 
seagull’s fear. ‘Fear doesn’t exist anywhere else 
other than one’s mind.”

(His First Flight-Two Stories about Flying)

ii. Explain why the poet personally holds the 
conviction that the world will primarily end in fire?

(Fire and Ice) 

iii. Valli’s unique maiden bus ride experience could be 
possible because she belonged to a small village. 
Do you agree? Why?/Why not? (2 reasons)

(Madam Rides a Bus)

iv. Give one reason why ‘The Tale of Custard the 
Dragon’ is more a fable than a ballad.

v. How can we say that Natalya was continuously 
successful in maintaining an upper hand during 
her arguments with Lomov? (Any one example)

(The Proposal)

Answer ANY TWO of the following in about 40-50 words 
each. 
i. Dr. Herriot knew his patients as well as their owners 

really well. Discuss.
(The Triumph of Surgery)
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ii. State one likely reason the writer of The Midnight 
Visitor chose to characterise Ausable as short and 
fat.

iii. Validate the importance of small, fun learning 
tasks towards successful careers, in the context 
of Richard Ebright in The Making of a Scientist.

Answer ANY ONE of the following in about 100-120 
words.        16=6

i. Mijbil and the Tiger, both were looked after by 
humans. Assume they both meet each other in the 
zoo and have a conversation about their lifestyle 
and feelings. Write this conversation as per your 
understanding of Mijbil the Otter and A Tiger in the 
Zoo.
You may begin like this Tiger: Thanks for visiting me, 
though I don’t usually like visitors.
Mijbil: Oh? I would love visitors, I think.

OR

ii. “Not from weeping nor from grieving will anyone 
obtain peace of mind’. If you had to use the 
message of the given quote from the Buddha’s 
sermon (The Sermon at Benares) to help the boy 
cope with the loss of his ball and what it signifies 
(The Ball Poem), what would you include in your 
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advice? Also, evaluate why it might be difficult for 
him to understand the notion.

Answer ANY ONE of the following in about 100-120 
words.

i. Fiction writers prefer creating grey characters 
rather than black and white. Analyse this in detail, 
with reference to both the characters of The Thief’s 
Story

OR
ii. ‘Honour among thieves’ is considered a popular 

code. Examine A Question of Trust as a story 
woven around this code. 
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